
Mathématiques 2MStd Ch.4: Droites dans le plan métrique

Exercice 4.3.

•
−→
AB =

(

1
7

)

;
−−→
BC =

(

9
3

)

;
−−→
CD =

(

−3
−9

)

;
−−→
AD =

(

7
1

)

• ||
−→
AB|| =

√
50 [u] ; ||

−−→
BC|| =

√
90 [u] ; ||

−−→
CD|| =

√
90 [u] ; ||

−−→
AD|| =

√
50 [u]

•
−→
AC =

(

10
10

)

;
−−→
BD =

(

6
−6

)

⇒
−→
AC •

−−→
BD = 60 − 60 = 0 ⇒

−→
AC ⊥

−−→
BD

• par exemple :

σ(ABCD) = σ(ABC) + σ(ACD) =
1

2
· | det(

−→
AB ;

−→
AC)| +

1

2
· | det(

−→
AC ;

−−→
AD)| =

=
1
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+
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2
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∣

∣

∣
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∣

∣

∣

∣

∣

=
1

2
· |10 − 70| +

1

2
· |10 − 70| =

1

2
· | − 60| +

1

2
· | − 60| =

= 30 + 30 = 60 [u2]

Exercice 4.4.

•
−→
AB =

(

−2
4

)

;
−−→
BC =

(

−6
−5

)

;
−−→
CD =

(

5
−5

)

;
−−→
AD =

(

−3
−6

)

•
−→
AC =

(

−8
−1

)

;
−−→
BD =

(

−1
−10

)

• σ(ABCD) = σ(ABC) + σ(ACD) =
1

2
· | det(

−→
AB ;

−→
AC)| +

1

2
· | det(

−→
AC ;

−−→
AD)| =

=
1

2
·
∣

∣

∣

∣

∣
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∣

+
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2
·
∣

∣

∣
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∣

∣

∣

∣

∣

=
1

2
· |2 − (−32)| +

1

2
· |48 − 3| =

1

2
· |34| +

1

2
· |45| =

= 17 + 22.5 = 39.5 [u2]

Exercice 4.5.

• On pose B(x ; y)

•
−→
AB =

(

x − 2
y − 3

)

•
−→
P Q =

(

−6
12

)

//

(

1
−2

)

⇒ −−→nP Q =

(

2
1

)

⇒ (P Q) : 2x + y + c = 0 par P (10 ; −3) ⇒

⇒ 2 · 10 + (−3) + c = 0 ⇐⇒ 17 + c = 0 ⇐⇒ c = −17 ⇒ (P Q) : 2x + y − 17 = 0

• ∆ ABC est isocèle en A avec ||
−→
AB|| = ||

−→
AC|| = 5 et B, C ∈ P Q







√

(x − 2)2 + (y − 3)2 = 5

2x + y − 17 = 0
⇐⇒







(x − 2)2 + (y − 3)2 = 25

y = −2x + 17
⇒

⇒x2 − 4x + 4 + 4x2 − 56x + 196 − 25 = 0 ⇐⇒ 5x2 − 60x + 175 = 0 ⇐⇒
⇐⇒ 5(x2 − 12x + 35) = 0 ⇐⇒ 5(x − 5)(x − 7) = 0 ⇐⇒ x1 = 5 ou x2 = 7

et y1 = 7 ou y2 = 3 ⇒ B(5 ; 7) ; C(7 ; 3)
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